
 

  



 

vrg Aqy vrgmUl  
 

1. j/mK fbfynK ftZu'A fejVh ;zfynk g{oB tor j?< Which of the following number is a perfect square? 
a) 122  b) 113  c) 117  d) 121 
 
2. 𝟗𝟐 ns/ 𝟏𝟎𝟐 d/ ftueko fezBhnK kudrqI ;zfynktK jB< 

How many natural numbers are there between 𝟗𝟐 and 𝟏𝟎𝟐? 
a) 18  b) 19  c) 17   d) 21  
 
3. j/mK fbfynK ;zfynktK ftZu'A fe;d/ tor dk fJekJh dk nze 4 j?< 

Which of the following numbers’ square has unit digit 4? 
a) 34  b) 24  c) 15  d) 28 
 
4. ;zfynk 10201 d/ torw{b d/ nzeK dh frDsh dZ;'. 

Find the number of digits in square root of 10201. 
a) 2  b) 3  c) 4  d) 5 
 
5. gfjbhnK 𝒏 NKe ;zfynktK dk i'V  Sum of first n odd natural numbers  

a) 𝒏(𝒏 + 𝟏)  b)  𝒏(𝒏 − 𝟏)      c) 𝒏𝟐  d) (𝒏 + 𝟏)𝟐 
 

6. 𝟏 + 𝟑 + 𝟓 + 𝟕 + 𝟗 + 𝟏𝟏 + 𝟏𝟑 = 
a) 98  b) 169  c) 49  d) 144 
  
7. gkJhEkr'ohnB fsqr[N fby' fi;dk fJZe w?Apo 6 j?  

Write the Pythagorean triplet having one number is 6. 
a) 6, 7, 8  b) 6, 8, 10 c) 5, 6, 7  d) 4, 5, 6 
 
8. ;zfynk 529 d/ torw{b dk fJekJh dk nze dZ;'. The unit digit of square root of 529.  
a) 7  b) 4  c) 3  d) 1 
 
9. √𝟎. 𝟒𝟗 = 
a) 0H7  b) 0H07  c)   0H17  d)  0H02 

 
10. tor dh G[ik gsk eo' i/ T[;dk y/socb 324 wh2 j? Find the side of square having area 324 𝒎𝟐 
a) 28 wh  b) 14 wh  c) 8 wh  d)  18 wh 

 
11. 𝟑𝟓𝟐 = 
a) 1125  b) 1225  c) 1325  d) 1025 

 



 

12. j/mK fbfynK ftZu fejVh ;zfynk g{oB tor j?<  
Which of the following is a perfect square number? 

a) 150  b) 154  c) 144  d) 124 
 

13. 𝟏𝟐𝟐 ns/ 𝟏𝟑𝟐 ftueko fezBhnK kudrqI ;zfynktK jB<  
How many natural numbers are there between 𝟏𝟐𝟐 and 𝟏𝟑𝟐?  

a) 23  b) 26  c) 25  d) 24 
 

14. j/mK fbfynK ftZu'A fejVh ;zfynk d/ tor dk nze 1 j?<  
Which of the following number’s square digit is 1? 

a) 123  b) 129  c) 155  d) 157 
 

15. ;zfynk 9604 d/ torw{b d/ nzeK dh frDsh dZ;'.  
The number of digits in square root of 9604. 

a) 4  b) 2  c) 3  d) 1 
 

16. 𝟏 + 𝟑 + 𝟓 + 𝟕 + 𝟗 + 𝟏𝟏 + 𝟏𝟑 + 𝟏𝟓 = 
a) 49  b) 32  c) 128  d) 64 

 
17. gkfJEkr'ohnB fsqr[N dZ;' fi;dk fJZe w?Apo 12 j?. 

Write the Pythagorean triplet having one number is 12. 
a) 11, 12, 13 b) 5, 12, 13 c) 12, 13, 15 d) 12, 15, 20 

 
18. ;zfynk 784 d/ torw{b dk fJekJh dk nze dZ;'. The unit digit of square root of 784 is 
a) 8  b) 2  c) 4  d) 6 

 
19. j/mK fbfynK ftZu'A fejVhnK ;zfynk dk tor NKe ;zfynk j?. 

Which of the following number square is an odd number? 
a) 126  b) 216  c) 621  d) 612 

 

20. √𝟑𝟔𝟎𝟎𝟎𝟎 = 
a) 60000  b) 6000  c) 60  d) 600 

 

21. √𝟎. 𝟗 = 
a) 𝟎. 𝟑  b) 𝟎. 𝟎𝟑  c) 3  d) e'Jh BjhA 

 
22. i/ fe;/ tor dh G[ik 2H1 wh j? sK T[;dk y/socb gsk eo'   

If the side of a square is 2.1 m then area is : 
a) 𝟎. 𝟒𝟒𝟏 wh2  b) 44H1 wh2 c) 4H41 wh2  d) 441 wh2 

 
 
 



 

23. i/ fe;/ tor dk y/socb 2704 wh2 j? sK G[ik dh bzpkJh dZ;'. 
If the area of a square is 2704 𝒎𝟐 then side of square is.. 

a) 52 wh  b) 54 wh  c) 48 wh  d) 62 wh 
 

24. ∆𝐀𝐁𝐂 ftZu ∠𝐁 = 𝟗𝟎°, 𝐀𝐁 = 𝟔𝐜𝐦 ns/ 𝐁𝐂 = 𝟖𝐜𝐦 j? sK 𝐀𝐂 gsk eo'.  
𝐈𝐧 ∆𝐀𝐁𝐂, ∠𝐁 = 𝟗𝟎°, 𝐀𝐁 = 𝟔𝐜𝐦 and 𝐁𝐂 = 𝟖𝐜𝐦 then find 𝐀𝐂  

a) 7  b) 10  c) 14  d) 12 
 

25. ∆𝐀𝐁𝐂 ftZu 𝐁 = 𝟗𝟎°, 𝐀𝐂 = 𝟏𝟑𝐜𝐦, 𝐁𝐂 = 𝟓𝐜𝐦 sK 𝐀𝐁 gsk eo'. 
𝐈𝐧 ∆𝐀𝐁𝐂, ∠𝐁 = 𝟗𝟎°, 𝐀𝐂 = 𝟏𝟑𝐜𝐦 and 𝐁𝐂 = 𝟓𝐜𝐦 then find 𝐀𝐁  

a) 12  b) 8  c) 10  d) 9 
 

26. ;G s'A S'Nh tor ;zfynk gsk eo' i' fe 4, 9 ns/ 10 jo/e Bkb tzvh ikt/. 
The smallest perfect square number which is divisible by 4, 9 and 10 is : 

a) 1440  b) 1800  c) 3600  d) 2500 
 

27. 1008 B{z fejVh S'Nh s'A S'Nh ;zfynk Bkb r[Dk eohJ/ fe fJj g{oB tor ;zfynk pD ikt/. 
By which smallest number, 1008 must be multiplied so that it becomes perfect square: 

a) 5  b) 2  c) 3  d) 7 
 

28. 396 B{z fejVh S'Nh s'A S'Nh ;zfynk Bkb tzv eohJ/ fe fJj g{oB tor ;zfynk pD ikt/. 
By which smallest number, 396 must be divided so that it becomes perfect square: 

a) 11  b) 7  c) 3  d) 2 
  

 


